Eﬁ@t’[%@)?

wmmﬁﬁﬂfﬂ

Eﬂi %““IFE

h%@ﬁﬂ %% %ﬁ%f% 4Aﬂﬂ

f%ﬁ%ﬁﬂfﬁﬁ

x”—zp/‘(!.u

|
|
|
\
!

'3 %%5&W%@1

M@M@L@®a%o@ﬁ@m%@ﬁf

WBE 37 4 ¢

7 5

A Lbn

J ol _sgpretietpas s

/?_:}_—zngshgg ;
PN A W o N L S 2 BT 2% B

7 7-\;?

(EREARI T 5 AHALIA L TR B3 g )

i

L‘LF

BB e tt

(ﬁ\ i T ::

B o &

b

o W

.
K- g TSR

FE @ TReRA S haimJ U EH

BE TR RS B o B4R TE i e
GEAE - {FEFEA)

4% F T LAY

i H s

HHERA TR AREAL T &y,

HECRERES, ERME TR AERAL TRy,
SR, RSSO B T R S b,
SrLEHEETI R T AL L< P&,

P R B MR O i e

EEREL, WHALORNTE A PR L, DR

ﬂdutmxfc@jlt?s@ﬁ:ﬁ%%h LY mﬂ’?%dkou "Cu_é&é g

. I,&_ELM u-gg%:;‘u;‘j;:’——eﬁ- S —&;‘l"

_'_,__#-—? '!-j-}?!
| 3
] I g

! e T
A { ;“1:1;1 : g

. 3 13
| ST B8 Pe. ¢
H Q

T E pde”

l%’—’"h—-w- A PR—

ﬁ;&#ﬁfﬁ’@} 9%0- 3

z. 200 -3’;296

JoZfoe x sArpo= 2436 | Gl Lgoow OFO0 = oup 123 sLgvox

koo zb2E

2 00 x  SZOO= Z. 60 | spl Loene x = bpo = ZL.000 128 Atoos
12} 200x BIS0 L2857 | at]. s 000 x 3800 = 3L000 2 000k

g200- 1580

i =1/ 800 3.??a-/2(z98? eZl_ 1.500% 0900 = 4620 1,800

27 g0 o X Z980 =08 230 | syl oAPOBN  mB00 = 26, K12

o

27 = /.sza.'.
: 6

| Zrdeox 3,800 =/ok f20 1 sft 2/300K

2,500

4"‘?00—'-_' 5.7{ Ty

180« 0490= J.7r04

=
4
.g. 2200 x _hHsto= 2 630 |3 5otk a?ao = B2
7
2

/.sao—- R Rd

’¢ ﬂ%ﬁ%

5% 755 ]

245,08 m |

& 4ooo

Z{ii_..rj\ B < f* ‘f\ln

SN

~ (FAAISSEL AT, 000).




